



Who’s Gonna Make it Through September? __________________________

Please complete showing all your work, and resubmit in Canvas no later than Friday, Sept. 19, at 11:50 pm…
MAT 091…  Textbook  Quiz 1.12 ~ 1.14    

Evaluate the following…   this is a division symbol                                   this is a division symbol

1.
39 + 3 • (8  2 + 3)  
2.
(16 + 84)  (4 • 3 – 2)  
X1.____60____

39+3 * ( 4 + 3)                                                                  100     divided by  (12-2)

39+3 * (7)=                                                                           100   divided by   10     = 10

39 + 21 = 60





X2.__10_____

3.
20 – 2 ∙ 32
4.
2(3 + 4 ∙ 5)
3.__2____ _

       20 – 2 *9                                                                        2 ( 3+20) =

       20-18 =2                                                                         2 (23 ) = 46






4._46_______


Perform the indicated operations…

5.

[image: image1.emf]
6.

[image: image2.emf]
5.____9 3/4_____


13/6 *  9/2= 117/12 = 9  9/12 = 9 ¾                      
21/5 divided by 10/3 =

                                                                                    21/5 * 3/10   = 63/50 =1.26                                                                                                6.                                                                                                                                                                              6.   __1.26_______          

7.
Each individual account in your small business has a current dollar balance, which can be either positive(a credit) or negative(a debit).  To determine your current total account balance, you add all the individual balances.  


If your records show the following individual balances:  -220   -220   350   350   -220   -220   -220   350


What is the total of the individual positive balance?




-220 + -220 =440    440 +350=790   790+350=1140   


                                                                                                                     X  7.__830______

          1140 + -220= 920  920 + -220= 700  700+ -220= 480  480+350 = 830

_2147483647.unknown

_2147483646.unknown

